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BCM SCHOOL, BASANT AVENUE, DUGRI ROAD, LUDHIANA
CLASS - IV MATHEMATICS REVISION ASSIGNMENT -3
(DECEMBER, 2023)
TOPIC-CH-9.10& 11

Choose the correct option.

. Which one of the following is the longest chord in a circle?

a) radius b) centre c) diameter
250 gis of a kilogram.
1 3 1
Which one of the following is incorrect?
a)1kg=1000g b)1cm =100 m c)1L=1000 ml
The standard unit of capacity is
a) metre b) litre C) gram

Number of vertices in the following figure is
a)2 b) 3 c)4

In the given circle name the following:
a) Aradius
b) A diameter
c) AChord
d) Point interior the circle
e) Points on the circle
Convert the following as directed.
a) 19 km 360 m into metres.
b) 1075 mm into cm.
Add 345 m 25 cm, 375 m 5 cm and 262 m 66 cm.
The weight of a sack of rice is 160 kg, out of which 128 kg 750g was
taken out. How much rice is left in the sack now?
Find perimeter of the following figure.
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The length and breadth of a rectangular park are 40 m and 16 m
respectively. Find the length of the wire needed to fence all around the
rectangular park.
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